Sign Affect] Affect| Affect Affe

Instruction | Opcodes [Bytes Ticks In Opeodes [Bytes| Ticks

Sign|Affect| Affect| Affect
Bi

Afle
I

/ADC A,(HL) 8E 1 7 7 z v ¢ LD (IX+d)A DD77d 3 19 BIT7,L. CB 7D 2 8 ? [ <>b ? LD LIX,HIX DD 6C 2 8 ‘SET 3.C CB D9 2 8
ADC ol 2l o I3 LD (X+d.B| DD70d | 3 | 19 CALLaddr  CDdrad | 3 | 17 LDLIXLIX Db6b | 2 8 SET3D | CBDA | 2 | 8
2 v | e
A(IX+d) LD (IX+d).C| DD71d | 3 | 19 CALLcaddr DCdrad = 3 117110 LDLIXn | DD2En | 3 n [SET3.E CBDB | 2 | 8
ADC LD (IX+d),D| DD72d 3 19 (CALL maddr FC drad 3 umo LD LIY.A FD 6F 2 8 ‘SET 3H CBDC 2 8
sy | TPSEQ| 319 7|z v | e I
S - = =
= I 5 = = = 5 LD (IX+d),E| DD 73d 3 19 CA[;];, D4 drad 3 a7mo LD LIY,B FD 68 2 8 ‘SI:T 3L CB DD 2 8
i i 4 = - N . LD (IX+d),H DD 71d 3 19 ?;L LD LIY.C FD 69 2 8 SET 4,(HL) CB E6 2 15
LD (IX+d)L| DD75d | 3 | 19 Cadrad | 3 | 1760 LDLIYD | FD6A | 2 8 § DDCBd
ET 4,(1X-
5] L4 f 7z v be D (Xedyn DD36dn | 4 | 19 nzaddr LDLIYE | FD6B | 2 8 X4 ko 4 ®
SA_ | U 4 {71 2 v | ¢ |IDaYsd)A FD77d | 3 | 19 (CAEDE sid i TN NS M L1710 [ LDLIYHIY| FD6C | 2 8 —— LT S
B 7]z v e CALL . E6
LD(Y+d)B FD70d | 3 | 19 o Eddrad | 3 | 17710 LDLIYLIY | FD6D | 2 | 8 :
8C Tl oz v ¢ ipav+dC FD7Id | 3 | 19 [po.accs LDLIYn | FD2En | 3 | 11 [SET4A CBE? [ 2]8
l‘z‘; :5 ; z | v | ¢ Ilh(YsdD FD72d | 3 | 19 ;“;’;{ ECdrad | 3 | 07010 LDRA ED4F | 2 | 9 SET4B CBEO |2 8
Z_ v L€ [LDAY+)E FD73d | 3 | 19 > ED 7B dr SET4.C CBEI | 2 | 8
D) T v e o CALLzaddr | CCdrad | 3 | 17010 LD Spqadan| FPIPY 4 20 SET4D e 2 8
2 LD(Y+d.H FD74d | 3 | 19 iccF 4 : ‘
DD 8D 8 (72| v |c [ccE___ | 3 LDSPhilo | 31lohi | 3 SET4E CBE3 | 2 8
FD 8D 2 8 7 z v 3 LDAYsdLL P75 d : o CP (HL) BE 1 7 =1 = I - n SET 4,H CB E4 2 8
LD (IY+d)n | FD36dn 4 | 19 CP(X+d) | DDBEd 3 | 19 |=7 < |[LDSPHL 3] 1 6 \ d
CEn | 2 7 [7 2| v | ¢ |[[DAGdd) 3Adad |3 | 13 s e b < [toseix DDF | 2 | 10 [SET4.L CBES | 2 | 8
:g ZA Z :: z | v | c lipaso | 0a |1 7 jadt ed | 3 = S sy R 2w [SETS(HL) | CBEE | 2 | 15
o | T e o S = = = < |top EDAS | 2 | 16 B sersaxia| S| 4 |
- . € _||LD A,(HL) TE 1 7 LDDR ED B8 2 z16nz21 0
8 9 1 4 =7 <
VT2 Isfz vl ipamn | 7E | 1| 7 cee 5 o] EDAO |2 | 16 BC seTsavea| PPy
ADDAGHL) | 86 | 1| 712 [ v | e |ibacd [GED A 4 =1 < bR EDB0 | 2 don2l 0 s EE
ADD LD A(UX+d)| DD7Ed | 3 | 19 CPE BB | I | 4 |=7 < L SETSA CBEF | 2 8
DDS6d | 3 19 | 7| z | v | ¢ [LDAGY+d) FD7EA | 3 | 19 = = NE ED44 | 2 | 8 | 7| z |ASO| A0 | >C -
AdIX+d) o e CPH BC | 1| 4 |=7 < |Nop o 11« ET S5 CBES | 2 8
" 1 CPHIX DDBC | 2 | 8 [=7 < o SETSC CBES | 2 8
Adysq) | P86d w7z v]e t“: :'2 ;f; : : 1 CPHIY BC | 2 8 |=7 < g: g:::‘d) DDB; i ; 17 ; ; : g }} ST5.D CBEA | 2 | 8
ADD AA 8 |1 4 |7z | v e X 1 cPL BD | 1| 4 |=1 c F SETSE CBEB | 2 | 8
6 7 0
ADD AB 80 |1 4 |71] 2z v | "l‘: :"g ;: 1] 4 1 CPLIX DbBD | 2 | 8 |=7 < ug: iv“d) FD; d T 1 e B o AT CBEC | 2 | 8
ADDAC 81 N A 2 B N = : 114 1 CPLIY FDBD | 2 | 8 [=7 < |iors OB T SETSL CBED | 2 | 8
ADDAD 3 CHNE O N 2 B B = uncvc : : 1 CPn 2| 1 [=1 < liore = 7 o : o [SET6aL) | cBF6 |2 15
! 2 B
2';3 :'E "o : I S oamy | mic | 2| 8 : 72:;‘ : = lorD B2 7z [ » sereaxea) POy
’ LD AT EDST 2| 9 7|z i 0 : ORE B3 7z [ »p
ADDAHIX | DDS684| 2 8 |7 2 | v | ¢ 1 cpi 2 ? R b 1 seToavs| FOCBA | 4|
ADDAHIY | FDS684 | 2 | 8 |7 z | v | ¢ DAL il 1] 4 2 CPIR 2 P F6
ADD AL S 14 71+ v e LDALX | DD | 2| 8 - oL ; : ORHIX | DDB4 71z | p ETeA SF 28
. LD ALY FD7D | 2 8 OR HIY FDB4 | 2 71z | p | 0 [sETeB CBFO | 2 | 8
ADDALIX [DD868s[ 2 [ 8 |71 =1 v [ e |imm E = 2 2 71z ] p [7 |[DAA 1 71z p|c lorL BS 1 7z | p | 0|
ADDALIY FD8685| 2 8 |7 | 2z | v | ¢ - L L DDCBd DEC (HL) 35 [T SET6.C CBFI | 2 | 8
ADD An Con | 2 7 7] 2z | v | c |[RAR EDSF |21 9 [7] .17 [0 |REGX) 6 |4 BT 2P |7 | ElX:d) powa 3 B [T (= DD 2 71z | » [0 |sren CBR2 | 2|8
ADDHLBC | 09 T ¢ |[LDB(HL) | 46 17 RLGY+d) [FDCBA16 4 |23 7| 2 7 | DEC aysd) | FD35d | 3 | 2 |7 | 2 | v ORLIY FDBS | 2 712 [ » | 0 IsETeE CBF | 2 | 8
» (IY+d)
- : LDB.0X+d) DD46d | 3 | 19 Ry G D i o oo ORn Fen [ 2| 7 [7] 2| p |0 |seren I R
/ADD HL,DE 19 1 n < P DEC A 3D 1 4 7 z v - 5 2 y
ADDRLEL 20 | 1 11 o ILDBaY+) D46 | 3 | 19 RLB @ Gl DECE S B R DR EDBB | 2 a6nz21 (R SETeL s T2 s
ADDHLSP | 39 | 1 1 o |[-RBA 4 14 c 7z [ DEC BC B 1 6 (T e Jserrai) | cere 2 s
N 5 LD BB 40 () I 7 OUT(@©A [ ED79 [ 2 | 12 DDOCBd
ADDIXBC | DDOS | 2 | 18 ¢ |iioB.C a1 () G = 2o 7 ovece o 114 171 UT(O)B | ED4l | 2 | 12 ET7(IX+d) “Tpp " | 4 | B
ADD IX,DE DD 19 2 15 3 . z P r DEC D 15 1 4 7 z g
2
ADDIXHL | DD20 | 2 | 1§ ¢ |LRB.D 2 | 1] 4 CB1s | 2 |8 7| z | p | v |pECDE B 16 o ﬁ?'g e rravsa| PP a2
ADDIXSP | DD39 | 2 | 15 ¢ u; :'f{ :z : : CB1s |2 |8 171z {p | |DECE 1D L4 d7lz | v out (C;.E s | 2 12 SETT.A CBFF | 2 | 8
i 2 LD B. 714 7 p ! : 2
ADDIYBC [ FDO> [ 2 T 15 e Iosax T ooa T2 8 7| IDECH 2 LA . T A A OUT(C.H | ED6I | 2 12 [SET7.B CBFS | 2 | 8
ADD IY,DE FD 19 2 15 < & CB 06 2 15 7 z P " DEC HIX DD 25 2 8 7 z v
v S5 T2 LDBHY | Fbas | 2 | 8 DDCBd = = OUT@OL | EDG | 2 12 SET7.C CBF | 2 | 8
e | o |1 ¢ oBL s 1 4 ‘RLC axsd) | C0EC 4 372 [ |7 E‘E‘g e L UTmA | DIn | 2 1 SET7D | CBFA | 2 | 8
: E c 2
LDBLIX  DD45 | 2 | 8 RLC (IY+d) [FDCBA06 4 (23 7| z | p | 17 5 UTD. EDAB | 2 | 16 | ? |oB| ? |[SET7.E CBFB | 2 | 8
e Y T RERE DECIX pbzs |2 | 10 ourt EDA3 | 2 16 | ? |oB| 2 SETTH | CBEC | 2| 8
AND(IX+d) | DDAGd | 3 | 19 |7 | z | p | ¢ :g :'”Y FD 45 2 RLC A CBO7 |2 18171z 1p | |pecry 2B 2 10 e i e s ar o | r 2 s
AND (IY+d) | FDAG6d | 3 1 (7] =z [ p r .0 06n 7 RLC B CBOO 2 8 7| z p | 7 | pEcL £ 1 4 7] 2 v ’ﬁ,_ B T2 157
L r I 2 i
AT [ 1 4 |70z »p ¢ 321 " EDABAr 4 | 2 RLCC CBOI [ 2 [8[7 P | 7 |DECLIX | Db2b | 2 | 8 7] 2z v zigi ;: : :x S e z P17
R A o |[BCaddn a RLCD. CBR2 |2 [8 7|z |p | preoy Tm 2 5 712~ SLA (IX+d) 4 3|7z |p |7
= == = LDBChilo | Ollohi | 3 | 10 RLCE B3 [ 2 [8 7|z [p " o POP HL, El [0 26
A “: ¢ ey | a7 RLCH cBos 28 7|2 plm }r;;—:c s 'F': : : POP IX DDEl | 2 14 ISLA(Y+d) [FDCBA26| 4 |23 | 7| z | p | 7
e T4 {70z p | |-RCOXO[DDEd[3 ] 19 RLCL CBOS | 2 [ 8 7| 2z | p | 7| pinza o0d |2 s POP IY. FDEl | 2 | 14 SLAA CB27 |2 |8 7]z |p |1
7 e e e | e LD C,(IY+d) DD4Ed | 3 | 19 RLCA 07 s 7 )El w1 = PUSH AF Fs L ::::2 g: i\: i : ; z | p f_ll
LD C,A 4F 1 PUSH B 5 z Lt
DDA4 [ 2 | 8 [7] 2z [ v [ ¢ |f ¢ 4 RLD EDGF | 2 (18 7| 2 | p [EX (sP).HL. E3 [T USH BC, < 1iu AD B2 | 2 5
DCB 48 [ p PUSH DE D5 u ISL. L3 A ) I ¢
FDA4 | 2 | 8 [7] z [ v |c Y RR (HL) CBIE | 2 |15 7| 2z | p | © |lgx(spX | DDE3 | 2 | 23
b LDCC 9 [ DDCBd - = PUSH HL ES [T SLAE CB23 |2 |8 7|z |p [0
AS 11 4 {71z p |c |ipep A T 1 RR (IX+d) \E 4237 2 0 |[EX(SPMY | FDE3 | 2 | 23 PUSHIX BoEs [z | 15 SLAH B2 |2 |8 7|z |p | ®W
DDAS |2 | 8 [7] 2z | v | ¢ |ince B i EX ARAF 08 T4 (s 7 | e | 3 SLAL B [2[8 7]z |7
| 4 FDCBd Eyera T USH 1Y FD ES 2 15
F;AS ; : ; 2| v [ ¢ |ipen 14 RR (IY+d) - B B i | [ REs o) | cBs6 |2 | 15 LL(HL) | CB36 | 2 (15 7| z | p | o
n z|p|¢ 1 DDCBd
LDCHIX | Dbac | 2 | 8 RR A CBIF 2 8 7|z | p |0 RES DDCBd SLLaxea) 43|72 "
; ; p|r
CBi6 | 2 | 12 |7 obl? LDCHIY | FD4C | 2 | 8 RRB CBIS 2 8 7|z p w0 76| 1 lmind 0.0X+d) ol B 36
CB DdD“f' 4 20 <b| poL D T s RRC B 2 8 7| 2 p w0 ED46 | 2 | 8 | lRE: [ R SLL(Y+d) [FDCBA36 4 (23 7| 2z | p | 17
B LDCLIX | DD4D | 2 | 8 RRD CBIA 2 8 7|z | p |10 EEE R 0.0Y+d) SLLA B3 |2 872 |p |7
‘BIT oayvea | BT 40 |2 |ob 2 tocLy | m4p | 2 | 8 RRE Gis 287 p EDSE | 2 | 8 RESOA | CBST | 2 | 8 SLLB B | 2 8 7|z |p |07
BITOA BT 28 B LD Can OEn | 2| 7 TRRH CBIC 2 8 7|z | p |0 i‘l’x i 12 4712 » 1 0 RESOB CBSO | 2 | 8 ’5‘-'— c CB3L |2 | 817]z|p|w7
BIT 0B CB40 | 2 | 8 7 LD D,(HL) 56 1 7 RRL CBID | 2 8 7|z | p | 10 ; n 2 :; - RES 0.C CBSI |2 | 8 SLLD CBR [ 2 8 |7z |p |1
BITO.C B4l |2 8 i LDDIX+d) DD56d | 3 | 19 RRA F_ [ 1 [ 4] 0 ED 40 z | b | 0 [RESOD cBs2 [2 8 ’5‘-'— E CB33 |2 817]z | p|w
BITOD G EERE O LDD.Y+d) FDS6d | 3 | 19 RRC(HL) | CBOE 2 | 15 Z | p |0 D48 | 2 | 12 [ 7|z | p | O |RESOE CBS3 |2 | 8 SLLH CB3M [ 2 8 7|z | p [

X 2 ? EDSO 2 | 1z [7| 2z | p [0 2 8 [t B3 [ 28 [7[ 2 p |1
BITOE CB43 | 2 | 8 7 LD D.A 57 ! 4 RRC (Ix+d) | PPCBA Ty 1oy 9 |, 0 2
BITON 54 |2 0 0 LDD.B 50 1 r OF EDS8 | 2 2 |7] 2 P 0 2 8 SRA (HL) CB2 |2 |15/ 2 p |0

X ? EDG0 2 | 12 | 7| 2 0
)yr oL cBas | 2 8 ? LbD.C Bl () RRCavsd) | PEBE Ty oy gl [0 Ebes T2 12 7 :: o 2ILE sraqxsd) | PPEB4 a7 | L | |0

; LD DD 21 4 2
BITI(HL) | CB4E | 2 12 ? RRCA BoF 2 8 7|2 p w0 % [ 1| [7]z[v | FDCBd
BIT LX) BPPIE 4 gy ? LDDE 3 L4 RRC B cBOS | 2 8 7 0 DD34d | 3 | 23 |7 e - I A T
(IX+d) ? 2 | p z | v
d LD DH s 4 4 B
RRCC CBO 2 8 7| 2| p | FD34d | 3 | 2 |7z | v SRAA CB2F | 2 8 7|z | p |00
CBFD4E LDDHIX | DDss | 2 | 8
Bt 1avea) | PR 4 ? Bomy T Fosi 2§ [RRCD CBOA 2 8 7]z | p |10 3C [ 1 4 [7]z v 2 [ 8 SRAB en 1718 l7l: L, [0
- & > RRCE CBOB 2 8 7|z | p |10 04 1[4 7]z [v R e © = 2 1Ln
BITIA CBIF | 2 8 7 LDDL 1] % 1 6 28 SRA D CB2A | 2 | 8 (7 |z | p [0
BIT LB cBas | 2 8 7 LD D.LIX 28 RRCH coc | 2 18 71z 1p |0 SRAE CB28 2 [ 87 0
, RRCL CBOD 2 | 8 7|z 10 oc L1 [ O 2 7 210 e
BITIC CBa9 | 2 8 ? LDD.LIY 2 8 b
W 1] 4 7]z 2 8 SRA H CB2C |2 | 87|z |p |0
BIT 1.D CB4A | 2 | 8 2 LD D 2 7 RRCA OF 1[4 [
X RRD b6 |2 87| 2 B 1] 6 2 [ 8 SRAL CBD |2 87|z |p |10
BITLE CB4B | 2 8 7 LD R 2 2 1 P ic T & (7] 2 v 2 8 SRL(HL) | CB3E | 2 |15 7| z | p | 10
BIT LH cBac | 2 8 B IDE, (addr) FE 7R T S 2 15 DD CB d
BITIL CB4D | 2 8 B LD DEhilo |~ Illohi | 3 10 RST lLaddr | CFdrad 3 (11) g AJ SRL (IX+d) 4 23 7| 2z p | 0
Db24 |2 | 8 |72 | v ES 3B
BIT 2,(HL) CBS6 | 2 12 ? LD E.(HL) SE 1 7 RST2,addr | D7drad 3 | (11) =T i - 4 23 - FDCBd
prraavsd) B0 g [y (o 2 [LDE.(1X+d)| DDSEd | 3 | 19 RST3.addr | DFdrad 3 [(1D) bz 8 2 ‘ S avedy | PEPC T T3 oy [0
> d LDE(Y+d) FDSEd | 3 | 19 RST4 E7 n RN (Iy+d) [FRCBA9S 4 | 23 [SRLA CB3F | 2 |8 7|z | p |10
BIT2,0Y+d) BP0 ) ? LDEA SF [ ST REH e (1) RES2,A cB9T |2 8 SRL B B3 |28 7|2 | p |0

(0 g » = LDEB 58 [ RST6 F1 [T EXE 121D i SRLC B3 28 7 0
BIT2,A CBS7 | 2| 8 |?|<b| ? LDEC 5 1 4 RST7 FE [ 2 J g 7LE 1LY :i: ;g g: :? ; : [SRLD CB3A 2 8 7 : E :»
BIT2.B CBSO | 2| 8 |7 <b| 2 BCAHL) | 9E [REAE b Db2c | 2 | 8 |7/ z ] v : 3 .

3 5 LDED SA 1| 4 (HL) v e e e [Res2p | cmo2 2 s SRLE CBIB | 2 8 71|z | p |10
%I ;E Eg :; ; :i ] <>: J LD EE B () (fx o DP9 3 7| v e = RimNG] 2 8 SRL H CBIC | 2 8 1|z | p |00

d 5 <! LDEH 5C [ [l 2 8 SRL L CB3D | 2 |8 7| 2 | p |10

) EDAA | 2 ? [<oB 7 :
BIT2E cBs3 [2] 8 <b| 7 LDEHIX | DDSC | 2 | 8 P FDOEA | 3 19 7|z | v | b 1 = 2 8 SUB (HL) % T |7 7]z v][b
BIT2.H CBsd | 2 8 |7 b 7 (Y+d) EDBA | 2 zen21 ? | 1 | ?

) LDEHIY | FDSC | 2 | 8 AR 1 1 . - ; 2 s SUB(IX+d) | DD96d | 3 19 7| z | v | b
BIT2L CBSS | 2 8 |2 ob| ? CDEL D s ¥ 4 z v EDA2 | 2 |16 <>B SUB(Y+d) | FD9%d | 3 |19 |7 | z | v | b
BrTagih | cBsE | 2 12 |7 ob| * DELX o5 28 SBC AB 98 14 7|z v b EDB2 | 2 aen21 7 | 1 7 4 B s S AR 2

B DD 5E SBCAC % Va7 2 [ v b e E9 () O
BIT 3,(IX+d) d 4 20 7 | <b 7 LD ELIY FD 5D 2 8 AD 9A i 4 7 h v b TP (IX) DD E9 2 s 4 23 ‘SUE B 90 1 4 7 z v b
LD Exn En | 2| 7 : SUB C 91 14|72 v|b
CBFDSE . N SBC AE 9B 1 4 7| 2 | v | b |upay WE 2 8 =
BIT3AY+d) | ™y A B Rl I ’]:g ::&L:d‘ DD":“ L 179 SBC AH 9C 1|4 7|z | v [ b | P Cidrad | 3 | 10 B0 H:x g z : : ; e E
BIT3A CBSE | 2 8 |7|wb 2 DHved| FD66d |3 | 19 SBCAHIX | DDC | 2 | 8 7| z | v | b |Pcaddr | DAdrad | 3 | 10 28 SUBH = - .
CBSS | 2 8 |7 |<b| 7 - 2 BCAHIY | FDOC | 2 | 8 7| z | v | b | Pmadd | FAdrad | 3 | 10 2 SO F—] 4 iz v IO
CB59 | 2 8 | b ? L‘; :'Q ;77 : : SBC AL 9D T 4 7] 2| v [ b |Pncaddr | D2drad | 3 | 10 0 H:UB XS | WD) Ag ZIBI7le L LD
CBSA | 2 8 |7 |ob ¢ Die o T SBCALIX | DDOD | 2 | 8 7| z | v | b |[Pozadr | C2drad | 3 10 = sg'; "’_"Y F‘;;‘ f i ; elly :
CBSB | 2 8 |7 |<ob 7 s 1 SBCALIY | FDOD | 2 | 8 7| z | v | b |[Ppaddr | Fdrad | 3 10 2 H;ET TR R R
CBSC | 2 8 |7 |<b 2 - SBC An DEn | 2 7 7|z | v | b | [Ppoaddr | E2drad | 3 | 10 s z Ly
BIT3L CBSD | 2 8 |7 <b| ? g:‘ﬁ :i : : ‘ ED42 | 2 |15 15| z | v | b | JPpeaddr | EAdrad | 3 | 10 SUBLIY o (2 [0 7][ e U]
BIT4(HL) | CBG6 | 2 12 | 7 |<b| ? CDHL e ] SBCHLDE | EDS2 | 2 |15 15| 2z | v | b |JPzaddr | CAdrad 3 10 4| B i"(;i':m) ?E" T : ; 2y ;
) : |
R I LD Han %0 2 7 i:f} :',: s;- Eg 23 ; :: i: 2 — : ”jz;:"’ f:: ; "122" 4| [XOR (1X+d) [ DDACA | 3 |19 7| 2z | p | 0
BITaLysd) BPPOOL 4 gy |0l ob | 0 Y g{iﬁ], 2 s ‘@-‘ 31 4] 1 JRned 304 | 2 wm 28 ggﬁ e ': 7cyr o
- = SETO(HL) | CBC6 | 2 | 15 IR nzd 204 | 2 | um 2| 8 I
[BITaA CB6T 2 8 7 LDHIXC | DD6I | 2 | 8 Db CBd [Rzd =4 ERr RN [XOR B A8 14 72 p |0
BIT4B CBG0 | 2 8 7 LDHIXD | DD62 | 2 | 8 SET01X+d)| Ve 423 = [xoR € A9 Va4 7z p o0

g e e o LD addn A | 32drad | 3 | 13 2 8 I 5
BIT4.C cB6l | 2| 8 ? 4 3 FDCBd BBE B0 XORD AA 1 702 | p |0
BIT4.D CB62 | 2 8 7 LDHIXHIX DD6+ | 2 | 8 ETOY+d)| 43 LD (addr).BC| 420 7D IXORE AB T4 72z p |0

2 s y LDHIXLIX DD65 | 2 | 8 SETOA TSR] TS5 ERin: [XOR H AC v a4 1|z p o0
3 s 7 LDHIXn | DD26n | 3 | 11 SET0.B CBCO | 2 | 8 LD (addr)DE| 420 | XOR HIX DDAC | 2 |8 7| 2 | p |0
215 It
2 s 2 LDHIYA | FD67 | 2 | 8 ‘[?ET 0C CBCl | 2 | 8 LD (addnHL| 22drad | 3 | 16 T [XoRHIY | FDAD |2 |8 7] 2z [p [0
LD HIY.B FD 60 2 8 XOR L AD 1 4 7 0
2 1z |7 ob 7 SET0.D cBC2 2 8 b i, PO, X | »
s 2 |2 ob| 2 LDHIYC | FD6I | 2 | 8 |[seToE CBC3 2 | 8 ad ORLIX | DDAC | 2 | 8 7| z | p | 0
d > LD HIY.D 6 | 2 | 8 SET O.H CBC4 | 2 8 LD adnx | PP [ 4 | 5 4 B XOR LIY FDAD | 2 | 8 7| 2z | p | 0
prrsaved | PO o | 50 | | on 2 LDHIYE | FD&3 | 2 | 8 SETOL CBGs 2 8 ad R XORn EEn |2 7 7|2 | p |0
d LDHIYHIY FD64 | 2 | 8 SETI(HL) | CBCE | 2 | 15 LD (addndy | TP 4 g 2 | 8
BITSA CBGF | 2 | 8 |7 |ob 7 LDHIYLIY FD65 | 2 | 8 DD CBd L 2 [ 8
BITSB CBeS | 2 8 |7 ob ? LDHIYa | FD26n | 3 | 11 SETL(X+d) “op | 4 | 23 LD aansp | FPTIA g g 2 8
BITSC B | 2 8 |2|ob 2 b FDCBd & 2
BITS.D CBGA | 2 8 |7 |ob| ? HL(ad | 2Adrad | 3] 16 SETLOY+) g | 42 LD (BO).A (] 1] 7 5 :
BITSE CBOB | 2 8 |7 |<b| ? LD ED6Bdr |, | SET LA CBCF | 2 | 8 LD (DE),A H 117 2 8
ET SH CB6C | 2 8 |7 <wb| ? HL (addr) ad SET 1B CBCS | 2 | 8 LD (HL).A kil rys
BITS5,L CB 6D 2 8 7 b 7 ILD HL.hilo 21 lo hi 3 10 SET 1.C CBC9 2 8 LD (HL),A 77 1 7
BITOHL) | CB76 | 2 12 |2 | <b| 7 LDLA ED47 12 [ 9 |SETLD CBCA | 2 | 8 LD (HL)B o [1]7
CBDD76 - 1qn DD2Adr CBCB | 2 | 8 LD (HL)C 71 7
BIT 6,(IX+d) 4 20 7| <b ? LD IX.(addr) 4 20
g «zdl : B |2 8 LD (HL).D 72 [
Brreavs) B4 a0 |0 fob| 2 LD Ixhilo | PP R E cBCD | 2 | 8 LD (HL)E 7 T
DA SET2(HL) | CBD6 | 2 | 15 LD (HL)H 7 117
BIT6.A CB77 |2 8 b | 7 LD 1Y, (addr) I I DbCBd LD (HL).L 7S 7
BIT6,B B0 | 2 8 <b| 2 L SET 2,(X+d)) "1 42 LD (HL)n 360 | 2 10
BIT6C G 2 —o 7 LD1Yhilo FD20lohi| 4 | 14 Dead
BIT6.D cB72 | 2 8 <b| 7 ILD L(HL) [ SET2Y+d) Tpe | 4B
BITGE CB73 | 2 8 b | 7 LDL,(IX+d)| DDGEd | 3 | 19 [SET2.A CBD7 | 2 | 8
BIT6H CB74 | 2| 8 b | 7 LDL.AY+d)| FDGEd | 3 | 19 |sET2,B CBDO | 2 | 8
BIT6.L CB75 | 2 8 <b| ? LDL.A 6F 1] 4 SET2C CBDI | 2 | 8
BIT7.(HL) | CB7E | 2 | 12 <b| ? Lg tf‘ o8 i : SET2.D cBD2 | 2 | 8
CB DD 7E \ LD L © ! SET2.E CBD3 | 2 | 8
Brrraxsa | POPTE 4 20 b 7 LDLD @ 1 4 R e
LD LE 6B 1 4
Brr7avsa) | BFPTE 4 a0 |0 oy 2 ET2.L CBDS | 2| 8
d LDL.H LS 1] 4 ET3(HL) | CBDE 2 15
BIT7.A CB7F 2 8 ? | <>b ? LD LL 6D 1 4 DDCBd
BIT7.B CB78 | 2 8 [2]<wb 2 LD L 2En 2 7 SET3,(X+d) 40
[BIT7.C CB79 | 2 | 8 |7 |<b| ? LDLIXA | DD6F | 2 | 8 FDCBd
BIT7.D CB7A | 2 8 |2 <b| ? LDLIXB | DD6S | 2 | 8 ET3AYsd) T 4B
BIT 7,E CB7B 2 8 ? | <b ? LD LIX.C DD 69 2 8 SET3.A CB DF 2 8
[BIT7.H CB7C |2 8 |7 <wb| ? LDLIXD | DD6A | 2 | 8 [SET3.B CBDS | 2 | 8
LDLIXE | DD6B | 2 [ 8 |

Based on content from: http://www.cantrell.org.uk/david/tech/cpc/cpc-firmware/



CPC Screen Colors

Ascii Character Map

Z80 Command Summary

Command Meaning
) . ADCr  Add register r and the carry to A
Number Hardware Number Colour Name R % G % B % Hexadecimal RGB values Colour ? gg . 3? g% E ? g = ADC#  Add number # and the carry to A
o s Black 0 0 0 #00000 00K [ ] 2 33 = 42 66 B 2 88 b ADC HL.ir Add 16 bit register rr and the carry to HL
1 44h (or 50N, BI 0 0 50 #000080  0/0/128 3 35 H 43 BT C 3 a9 [ ADD r Adds register rto A
GEE R | 4 36 % a1 g8 D 4 108 d ADD#  Adds number # (0 A
2 ssh Brigntbe o o 100 woooorr  oozss [ 5 37 ¥ 45 63 E 5 181 e ADD HL.tr Add 16 bit register rr to HL.
3 s5ch Red s0 0 o wooooo 12800 [ E 38 & 46 7@ F & 182 f ANDt  bitwise AND register r with A (result in A)
7 39 47 71 G 7 i3 o
PR Magenta s0 0 so wmoooso 129020 [ & 40 ¢ ag 2 0 g 164 B AND#  bitwise AND number # with A Gresult in A)
. eon Mo %0 100 morr  roonzss [ 9 41 3 49 73 1 9 105 i BITbr  get bit bfrom registerr (0 s far right bit)
A 42 3 40 74 0 [ A6 g CALL ##  Call address ##
6 ach BrightRed 1000 0 #FF0000  255/0/0 - B 43 + 4B 75 K B 07 i;(l CALL c## Call address ## if condition C is true
7 45h or4sh)  Purple w00 so wrooso  2ssom2s [ g &% B &% ;g h g L g l'\:‘ll CCF Invert carry flag (compliment carry flag)
8 4Dh Bright Magenta 100 0 100 ##FoorF 25507255 [ E 46 . AF 78 HN E 8 n (C:]I: ; EZ:S:: : :Z :ﬁ:;z;
9 s6h Green 0 50 0 #008000  0/128/0 - 5 E EE 6 ‘ég 73 g E é g CPD Compare and decrease... CP (HL), DEC HL,DEC BC, PO set if BC=0
10 46h Ccyan 0 50 50 #008080  0/128/128 - 31 49 1 51 i 0 71 3 CPDR Compare and decrease, repeat ... CP (HL). DEC HL.DEC BC. until BC=0 or found
32 56 B EZ BE R 23 4 cPl Compare and increase... CP (HL), INC HL,DEC BC, PO set if BC=0
o sysue o so 100 sosorF  oizenss [ 33 51 3 E3 83 § 73 5 s CPIR  Compare and increase, repeat ... CP (HL), INC HL.DEC BC, until BC=0 or found
12 5Eh Yellow 50 50 0 #osooo 128200 [N 31 52 4 54 84 T 74 & t CPL invert all bits of A (ones ComPLiment)
13 40h (or 41h) White 50 50 50 #308080 113/113/123- 3 g gg g gg g H ;g E 3 DAA Special command for Binary coded Decimal, update A
14 sFh PastelBlue 50 50 100 #3080FF  128/128/255 [N 37 &E5 7 57 87 H 77 9w e decreasevalie m register o by one
38 56 3 [=F:] a8 x 78 O 3 DEC dgcrease value in register rr by one
15 4Eh Orange 10050 0 #FFeo00  255M280 [N 38 57 9 B9 gg Y 49 1 5 DI Disable interrupts
16 47h Pink. 100 50 50 #FFS080  255/128/128 ; A 58 : Ch 15} 2z ThH ez djnz # Decrease B and Jump if NonZero... only jr jump, so must be close.. +-128 bytes away
3B 53 H SB 91 L 7B 3 4 El Enable interrupts
17 4Fh Pastel Magenta 100 50 100 #FF8OFF  255/128/255 3C B0 £ BC 98 ™~ o a P e
3 Xxchange the es at with the
18 sn BrightGreen 0 100 0 #00FFo0  o2ssn  [NI Eé 3 5D 32 1 D 5 % EX AFAF ExzhanSe A&k l};Iﬂgs with the shndo\:ar:;s]:‘er A’ & Flags'
19 42h (or 51h) SeaGreen 0 100 50 #0OFFS0  0/255/128 F 63 o EE % T ;% g = EX DE HL Exchange DE with HL
20 s3n Bright Cyan 0 100 100 #OOFFFF  0/255/255 b - EXX Exchang.e .BC.DE.HL with the shadow registers BC',DE'HL'
HALT Wait until interrupt occurs
21 sAn Lime 50 100 0 #BOFFO0  128/256/0
MO Interrupt mode 0
22 59h Pastel Green 50 100 50 #B0FF80  128/255/128 S peCtrU m CO I O rS ™M Interrupt mode 1
23 5Bh Pastel Cyan 50 100 100 #80FFFF  128/255/255 i]\N’li @ I""d“;_“l" ‘"‘)dE#Z_ A
W read from port # into
24 4pn Bright Yellow 100 100 0 #FFFFO0  256/256/0 Foreground 4 5 6 7 INR(O) read from gm Cinto A
25 43n(orash)  Pastel Yellow 100 100 50 #FFFF80  256/255/128 IN(C)  read from port C... but do nothing with it
26 4Bh Bright White 100 100 100 #FFFFFF  256/256/255 *8=Background 87 40 48 56 INCr increase r by one
=Briah INCrr increase rr by one
Palette sorted by Hardware Color Numbers +64=Bright IND In (HL).(C)...dec HL... dec B
Hardware Number Firmiware Number Colour Name R % G % B% Colour iEIDR :“ (g]]:)’((cj)“‘;i” I?E gec }}33 HBERED
0 on) 12 White so 50 so [N C P C +/M SX Co | ors (G R B) INIR 1: :HL;EC; 1:2 HL. nﬁi B until B=0
1@#1h) (3 White so 50 so [ JP(HL)  Jump to the address stored in HL
22n) 19 SeaGreen 0 100 50 IP ## Jump to #
3 @3n) 2 Pastel Yellow 100 100 50 &000F L lepetefeuding e
JR # ump to # must be +- 128 bytes from current location
4 (44h) 1 Blue 0o 0 50 - y : o
&008F jump to # if condition ¢ is true
4 & IR .
5 @5h) 7 Purple 000 so [ o must be +- 128 bytes from current location
& (46h) 10 Cyan 0 50 50 - l]:g :::)AA lLo?iLllf; an meniory address ## e
em e P s @ LD (##)5P Load the Sack poimor o 8
8 @sh) o) Purple 000 so [ LD A,(rr) Load A from memory location (ir)
9 (4sh) (25) Pastel Yellow 100 100 50 &0800 LD A,(##) Load A from memory location ##
LD AT Load A from the Interrupt register
10 (4Ah] 24 Bright Yell 100 100 O
eAn rontvelow &0880 &088F LDAR  Load A from the Refresh register
14,48y B Bright While.  100:100:108, LD rr,(#%) load 16 bitr registers rr from memory (##)
12 (achy 6 ergntred 1000 o [ &OSFF LDLA  Set the Interrupt register I to A
13 4Dhy 8 Bright Magenta 100 0 100 [ LDRA  sct Refresh register to A
14 4EN) 15 Orange 100 50 0 - LD SP,(##) Loadthe stack pointer from memory location ##
g et the Stacl omnter 1o
&OFOF LD SPHL Set the Stack P HL
15 (4Fh) 17 Pastel Magenta 100 50 100 drlo2 Load r2 into rl
16 (50h) ) Blue o o s [N &OF80 &OF88 &OF8F LD ri# Load r with value #
1761 19 SeaGreen 0 10050 [ LD r,(ir+-#) Load r from intireet register ir (IX or IY) +-# bytes
18 (52h) 18 Bright Green 0 100 0 [N &OFFO &OFF8 &OFFF LD ¥ loads 16 bit number ## into rr
A LDD Load (DE),(HL)... DEC HL... DEC DE... DEC BC
19 (53h) 20 Bright Cyan 0 100 100 . LDDR  Load (DE).(HL)... DEC HL... DEC DE... DEC BC... Repeat until B=0
20 @4ny 0 Black o o o Stack Pointer commands LDI Load (DE).(HL)... INC HL... INC DE... DEC BC
21 (55h; 2 Bright Blue o o0 100 LDIR Load (DE)(HL)... INC HL... INC DE... DEC BC... Repeat until B=0
(55h) igt pe
22 (56h) 9 Green o so o [N - Egg x{i p——
2 67 i Sky Blue o so o0 I Instruction| Opcode |Bytes|Ts|S |[Z|P|C P e Oits A
24 (58h) 4 Magenta so o so [ ADC HLSP [ED 7A 2 1515z |vic OR # Bitwise OR # with A
25 (59h) 22 Pastel Green 50 100 50 OTDR OUT (C).(HL)... DEC HL... DEC B... repeat until B=0
26 60 " Lime % 1000 ADD HLEP |39 1 1= o OTIR OUT (C).(HL)... INC HL... DEC B... repeat until B=0
P OUT (#),A OUTput A to port # (Does not work on CPC/XZ.. see notes)
27 (5Bh) 23 Pastel Cyan 50 100 100 ADD IY,SP FD 39 2 1 5 a3 OUT (C)r DUTpul rto pOﬂC (B on CPC/XZ.. see notes)
28 (5Ch) 3 Red so 0o o [ lADD LY.SP |DD 39 2 15- |- OUT (C),0 OUTput 0 to port C (B on CPC/XZ.. see notes)
29 (5Dh) 5 Mauve so o 10 [ OUTD OUT (C){HL)... DEC HL... DEC B
30 (5EN) 12 Yellow s0 50 o [ DEC 5P 3B 1 6 - |- - gggt POUT (ZCb)A(HL),‘,‘. lslc HLk [:iEC B \
heg 'ops ytes off the stack and puts them in rr
316Fh - Pasteliue 50 50 100 [ EX(SP)HL |E3 1 19)- -|- PUSHm  Push 2 bytes from rr into the stack
EX [S p),[X DD E3 2 23- |- |- |- EE?‘”’ E:‘i;‘bu b of register r (sets bit to zero)... Bit 0 is far right
EX (SPLY |FDE3 2 23~ |-~ RETf  Return if condition  is true
PC Screen Layout RETI  Return from Interupt
INC SP 3 1 = FERE RETN Return from Non maskable interrupt
RLr Rotate bits in r left using carry bit
LD (addr)SFIED 73 drad| 4 |20~ |-|-|- RLCr  Rotate Left and Copy bi i
' 2 a py bit 7 to bit O (wrapping the bits)
Mode 0 Mode | Mode 2 I RLD Rotate Left 4 bit nibble at Destination (HL) using bits 0-3 of A as a car
- D : 5 LD SP(addr)[ED 7B drad| 4 |20 e &4
Leftmost leE] Bits 1‘5‘3,7 Bits 3‘7 Bit7 : - RRTr Rotate bits in register r Right with carry
. LD SP.hilo 31 lo hi 3 101- |-|-|— RRCr Rotate Right and Copy bit 0 to bit 7 (wrapping the bits)
Bit6 . Py pping
RRD Rotate Right 4 bit nibble at Destination (HL) using bits 0-3 of A as a carr
. . ghi g ¥
Bits 2,6  Bit5 LDSPHL  |F2 1 (i il e ol RSTO  Call &0000
A RST 1-5 Call &0008 (1), &0010(2), &0018 (3), &0020 (4), &0028 (5
Bit4 LD SPIX DD Fo 2 N0 |- RST6 Cgll&l)(Bl)( ) 4 L ) &
Bits 0,4,2.6 Bits 1,5 Bit3 o= RST7  Call &0038
> LD SPIY FD F9 2 |10
Bit2 SBCr SuBtract register r and the Carry from A
SBC HLSP ED 72 2 1515k [v]b SBC#  SuBiract # and the Carry from A
N . Y
Bits 0.4  Bitl =oF = ] 1 ; SCF Set the Carry Flag
; B i C\ICIC SET b set Bit bto | in register r (note bit 0 is at the far right(
nghtmost PIXEI Bit0 SLA T Shift Left r and Alter bit 0 to 0
SLLr Shift Left and Load bit 0 with 1
SRA Shift Right r and Alter bit 7 to 0
4+——— S80BYTES ——» SRLr Shift Right and Load bit 7 with 1
— SUBr Subtract register t from A
#C000  #CO001 FOME  #C04F f SUB#  Subtract number # from A
HCS00  #CS01 HCSAE  #CS4F Memo ry Ma ps XORt  XOR (invert bits) in X with register r
#D000 #D001 #DO4E  #DOAF 1st XOR#  XOR (invert bits) in X with number # (when bit in # s 1)
#D800  #D801 #DB84E #D84F CHAR
ROW CPC L3 128K MSX2 (Full ram mode)
#F000  #F001 #FO4E #FO4F ‘
4RS00 4F801 HFS4E  HFSF g% R (CRO] T :ﬁgﬁg R ﬁ%
HCOS0  #CO51 #OO9E  #CO9F = ] e—
#C8S0 HCSS1 FCSOE  HCSOF :i%%% e i EE g i :E%DDDG R;m @] o :ﬁ%%ﬂﬂ
20 creen
PIXEL *CPC Firmware uses * X Firmware uses *MSX Firmware uses
LINES &AS00-%BFFF £&5B00-£6000 &D000-&FFFF
HFF30  #FF31 SFFTE  #FFTF Ram C4 Dark=Paged in rom
HCTR0  HCT8I HCICE  #CTCF RIS ki af) Whenin: basic
HCF80  #CF8L #CFCE HORCF | Lo ] Es ;am g’ Eﬁm ‘i I llneinl
am am am
CHAR Ram3 Ram3 204000
ROW EFC+ASIE ] Ram & Ram4 ARG
#F780  #FT81 #FICE  #FICF Ram 6 [ram & S0CH00
HFFS0  HFF81 HFFCE _ #FFCF Dark=Contended &10000 Wram
&40 Screen 3
#CTDO. #CTFF, #CFDO.#CFFF.,..., #FFDO. #FFFF are unused. &18000 Vram
Conditions and Flags e —
Comparison Unsigned Signed CPC Bank SWapplng
z flag is set (Z) Z flag is set (2)
Z flag iz reset (NZ) Z flag is reset (NZ) CPC =] C1L 2 3 C4 oL Ch C7?
¢ flag is se () 5 and P/V are different 100 3FFF - |RAMO RAMO RAM.0 RAMO RAM O RAMO RAMO
C flag is reset (NC) 5 and P/V are the same A000-7FFF  RAM RAn RARS RAM 6 RAM 7
BO0OHFFF RAMZ RAMZ RAMG RAN 2 RAM 2 RAR 2 RAMZ RAMZ
COHL-FFFF - RAM 3 RAMT RAMY RAM7 RAM 3 RAR 3 RAM3 RAMS

See www.chibiakumas.com/z80 for tutorials





